PROJECT FUNDING REQUEST

Date: Since June 03, 2016

Language: <u>Jorai</u>
 Project location: <u>Dallas</u>

3) Total cost of first project: **§ 16,800.00**. Second project: **§ 10,120.00**

4) Type of project: <u>Translating ALL the books that listed below and included their leader's guides into Jorai language (Jorai language is one of the five major languages of the Montagnard People: Jorai, Rađê, Koho, </u>

Bahnar and Bunông)

5) Include a brief summary of project:

The Jorai are a language group about 450,000 speakers and 130,000 of them are estimated to be believers. This group is also a largest group among the minorities in the South of Vietnam. The government in the home-country actively discourages Christians but the church continues to grow. We also have at least 6,000 speakers in the U.S.A. The materials are going to be used both here in the U.S. and in the home-country, including over 4,000 believers out of 35,000 people who are residents in Cambodia. Besides, over 400 people are in Finland, and 400 in Canada.

- 6) Starting date of project: June 2016
- 7) Expected completion date: <u>June 2025 (about 5 years)</u>

Book 1: How To Preach by SEAN included Leader's Guide	Translated
(according to a study book in English)	
Salary 170 pages x \$ 5/page =	\$ 850.00
Book 2: Inductive Bible Study by William A. Paul not included	Translated
Leader's Guide (according to a study book in English)	
Salary 136 pages x \$ 5/page =	\$ 680.00
Book 3: Preparing To Lead God's People by William A. Paul	Translated
included Leader's Guide (according to the book in English)	
Salary 166 pages x \$ 5/page =	\$ 830.00
Book 4: What We Believe by William A. Paul included	Translated
Leader's Guide (according to a study book in English)	
Salary 270 pages x \$ 5/page =	\$ 1,350.00
Book 5: <u>Alliance Polity</u> included Leader's Guide (according to a study book in English)	
Salary 59 pages x \$ 5/page =	\$ 295.00
Surary 37 pages x \(\psi\) 37 page	\$ 275.00
Book 6: Evangelism Explosion by D. James Kenedy not	
included Leader's Guide (according to the book in English)	
Salary 288 pages x \$ 5/page =	\$ 1,140.00
Book 7: <u>Growing In Christ</u> by Navigators	
Salary 73 pages x \$ 5/page =	\$ 365.00

Book 8: Church Leadership Ministries by Norma Van Dalen	
Salary 250 pages x \$ 5/page =	\$ 1250.00
Book 9: Walking With The Word: <u>Webs of Influence</u> by John	
& Mimi Soper	0.225.00
Salary 67 pages x \$ 5/page =	\$ 335.00
Book 10: Walking With The Word: <u>Foundation I & II</u> by John Cervone & Arnold Fleagle	
Salary 158 pages x \$ 5/page =	\$ 790.00
Sulary 136 pages A \$ 5/page	\$ 770.00
Book 11: <u>The Peacemaker</u> : A Biblical Guide to Resolving Personal Conflict by Ken Sande (for church leaders)	
Salary 282 pages x \$ 5/page =	\$ 1410.00
Salary 202 pages X & 3/page –	\$ 1410.00
Book 12: <u>Peacemaker: Workbook</u> . How to Apply Peacemaking Principles in an Actual Conflict by Ken Sande (church leaders)	
Salary 46 pages x \$ 5/page =	\$ 230.00
Book 13: <u>Peacemaker Seminar</u> : Resolving Conflict God's Way by Peacemaker Minitries (for church leaders)	
Salary 33 pages x \$ 5/page =	\$ 165.00
Book 14: <u>Guiding People Through Conflict</u> by Ken Sande and Ted Kober (for church leaders)	
Salary 48 pages x \$ 5/page =	\$ 240.00
Book 15: <u>Responding to Conflict Biblically</u> . (Leader's Guide & Workbook) by Peacemaker Minitries (for Sunday School or small group)	
Salary 65 pages x \$ 5/page =	\$ 325.00
Book 16: <u>Managing Conflict in Your Church</u> . A Seminar for Pastors and Church Leaders by Ken Sande J.D.	
Salary 234 pages x \$ 5/page =	\$ 1170.00
Book 17: Growing Great Commission Godly Men. Seminar Workbook Dan Bergstrom	
Salary 63 pages x \$ 5/page =	\$ 315.00
7 1 2 4 1 2	+ - 10.00
Book 18: Growing Great Commission Godly Men. Men's	
Minitry Action Plan by Dan Bergstrom	* * -
Salary 43 pages x \$ 5/page =	\$ 215.00

Book 19: <u>Prayer Partners</u> . By Dan Bergstrom	
Salary 32 pages x \$ 5/page =	\$ 160.00
Book 20: Lion Children's Bible by Pat Alexander	
Salary 256 pages x \$5/page =	\$1,280.00
Book 21: Firm Foundation: From Genesis to Revelation by	
Trevor MicIlwain	
Salary 681 pages x \$5/page =	\$3,405.00
Total of salary for translating 21 books	\$ 16,800.00

These books below are for ordination prosess: The cost of translating 12 books is \$10,120.00.

Book 1: <i>Voices on the Cross</i> . By K. Neil Foster and Douglas B.	
Wicks	
Salary 120 pages x \$ 5/page =	\$ 600.00
Book 2: <u>Voices from a Changing America</u> . By Joseph S. Kong and Paoze Thao	
Salary 193 pages x \$ 5/page =	\$ 965.00
Book 3: <i>The Fourfold Gospel</i> . By A. B. Simpson	
Salary 100 pages x \$ 5/page =	\$ 500.00
Book 4: <i>The Pursuit of God</i> . By A.W. Tozer	
Salary 122 pages x \$ 5/page =	\$ 610.00
Book 5: <i>The Crisis of the Deeper Life</i> . By George P. Pardington	
Salary 194 pages x \$ 5/page =	\$ 970.00
Book 6: <i>The Gospel of Healing</i> . By A. B. Simpson	
Salary 144 pages x \$ 5/page =	\$ 720.00
Book 7: Wholly Sanctified. By A. B. Simpson	
Salary 124 pages x \$ 5/page =	\$ 620.00
Book 8: <i>Power Through Prayer</i> . By E. M. Bounds	
Salary 128 pages x \$ 5/page =	\$ 640.00
Book 9: Church Planting Voices. By Michael D. Noel	
Salary 287 pages x \$ 5/page =	\$ 1435.00

Book 10: <u>Divine Healing</u> . The Children's Bread. By Keith M. Bailey	
Salary 237 pages x \$ 5/page =	\$ 1185.00
Book 11: <u>Welcome Back The King</u> . By Keith M. Bailey and Daniel R. Wetzel	
Salary 187 pages (Vietnamese translation) x \$ 5/page =	\$ 935.00
Book 12: <u>Backgrounds of the Christian & Missionary Alliance</u> . By Rev. Daniel R. Wetzel	
Salary 188 pages (Vietnamese translation) x \$ 5/page =	\$ 940.00
Total of salary for translating 12 books for ordination	\$ 10,120.00